

4.2 :

14)  $xy'' + y' = 0$ ;  $y_1 = \ln x$  and  $x > 0$

Use formula to find  $y_2$

Solution:  $y_2 = y_1 \int \frac{e^{-\int P(x) dx}}{y_1^2} dx$  (formula)

$= \ln x \cdot \int \frac{e^{-\int \frac{1}{x} dx}}{(\ln x)^2} dx$

$= \ln x \cdot \int \frac{e^{-\ln x}}{(\ln x)^2} dx$

$= \ln x \cdot \int \frac{1}{x(\ln x)^2} dx$

$= \ln x \cdot \left[ -\frac{1}{\ln x} \right]$

$= -1$

$u = \ln x$   
 $du = \frac{1}{x} dx$   
 $\int \frac{du}{u^2} = \int u^{-2} du$   
 $= \frac{u^{-1}}{-1}$   
 $= -\frac{1}{\ln x}$

G.S:  $y = c_1 y_1 + c_2 y_2$   
 $= c_1 \ln x + c_2 (-1)$

26)  $5x^2 y'' - 7xy' + 7y = x^{\frac{1}{2}}$ ,  $y_1 = e^x$

Put  $y = y_1 \cdot u$  ( $u = ?$ )

general solution  $y = e^x \cdot u$

$y' = e^x u' + e^x u$

$y'' = e^x u'' + 2e^x u' + e^x u$

Go to D.E:  $5x^2 e^x u'' + 10x^2 e^x u' + 5x^2 e^x u - 7x e^x u' - 7x e^x u + 7e^x u = x^{\frac{1}{2}}$

$5x^2 u'' + (10x^2 - 7x) u' + (5x^2 - 7x + 7) u = x^{\frac{1}{2}}$

Put  $u' = v \rightarrow u'' = v'$

$5x^2 v' + (10x^2 - 7x)v + (5x^2 - 7x + 7)u = x^{\frac{1}{2}}$

27)  $y'' + y = \sec x$ ,  $y_1 = \sin x$

Put  $y = y_1 \cdot u$

$y' = \cos x \cdot u + \sin x \cdot u'$

$y'' = -\sin x \cdot u + \cos x \cdot u' + \cos x \cdot u' + \sin x \cdot u''$

$= \sin x u'' + 2 \cos x u' - \sin x u$

Go to D.E:  $\sin x u'' + 2 \cos x u' - \sin x u = \sec x$

Put  $u' = v \rightarrow u'' = v'$

$\sin x \cdot v' + 2 \cos x v - \sin x u = \sec x$

$P(x) = \frac{2 \cos x}{\sin x}$

$M = \int \frac{2 \cos x}{\sin x} dx = 2 \ln |\sin x|$

$u = \frac{1}{M} \left( \int \sec x \cdot \frac{e^{2 \ln |\sin x|}}{\sin x} dx + C \right)$

$v = \frac{1}{\sin^2 x} \left( \int \sec x \cdot \frac{e^{2 \ln |\sin x|}}{\sin x} dx + C \right)$

$v = \frac{1}{\sin^2 x} \left( \int \frac{\sec x}{\cos x} dx + C \right)$

$v = \frac{1}{\sin^2 x} \left( -\ln |\cos x| + C \right)$

$u' = v = \frac{-\ln |\cos x|}{\sin^2 x} + C \sec^2 x$

$u = \int \left( \frac{-\ln |\cos x|}{\sin^2 x} + C \sec^2 x \right) dx$  h: LIATE

$u = \int \frac{-\ln |\cos x|}{\sin^2 x} dx + C \int \sec^2 x dx$

$u = \int \frac{-\ln |\cos x|}{\sin^2 x} dx + C \tan x$

$u = \int \frac{-\ln |\cos x|}{\sin^2 x} dx + C \tan x$

$u = \int \frac{-\ln |\cos x|}{\sin^2 x} dx + C \tan x$

$u = \int \frac{-\ln |\cos x|}{\sin^2 x} dx + C \tan x$

$u = \int \frac{-\ln |\cos x|}{\sin^2 x} dx + C \tan x$

$u = \int \frac{-\ln |\cos x|}{\sin^2 x} dx + C \tan x$

$u = \int \frac{-\ln |\cos x|}{\sin^2 x} dx + C \tan x$

$u = \int \frac{-\ln |\cos x|}{\sin^2 x} dx + C \tan x$

$u = \int \frac{-\ln |\cos x|}{\sin^2 x} dx + C \tan x$

$u = \int \frac{-\ln |\cos x|}{\sin^2 x} dx + C \tan x$

$u = \int \frac{-\ln |\cos x|}{\sin^2 x} dx + C \tan x$

$u = \int \frac{-\ln |\cos x|}{\sin^2 x} dx + C \tan x$

$u = \int \frac{-\ln |\cos x|}{\sin^2 x} dx + C \tan x$

$u = \int \frac{-\ln |\cos x|}{\sin^2 x} dx + C \tan x$

$u = \int \frac{-\ln |\cos x|}{\sin^2 x} dx + C \tan x$

$u = \int \frac{-\ln |\cos x|}{\sin^2 x} dx + C \tan x$